R B ERBHEICDOINT

2025F 1M AR OBESHEITERAT MM ERBEMNROEBYIZRYFELE-OTEMLEWLET,

205 F 1A DBABE AR DRI E =il

43 B3
PEEH e
20255118 (%)
\ -
&5 menmeem | HRooU Y &t B HEDBIEE
HEEEL _
EEEEATB i A 13067 A 367 A 13434 20.44
 DRETEITB
TyRn)a—7F35>
WE=E Tplus LEREZZHIKWhIZDE A 1308 A 036 A 1344 2.04
JATAZE
ﬁ(é%ﬁl{ﬁ?éézél TkWh(ZD% A 1308 A 1344 2.04
N AN = = =]
BETHBERTHHE  [kwhizoE A 1260 A 036 A 12,96 1.04
BASETHIAEZ(THI5E  |1kwhizDZ A 1231 A 1267 0.04
E EH I BtiE
20255114 (%)
AN .
&5 menmzaEg | EHooUo L ast B8 #EDRTE
10OWETOILT1 AIZDE A 50.73 A 142 A 5215 7.94
10WEZZ20WETD1LT1BIZDE A 101.50 A 2386 A 104.36 15.88
E
%8 = 20WECZAOWETDILT1AIZDE A 203.00 A 570 A 208.70 31.76
S oed
KT AT AOWEZZ60WETDILT1AISDF A 304.50 A 856 A 313.06 47.64
N 60WEC X 100WETD 4TI BIZDE A 507.50 A 1426 A 52176 79.39
oo
K
o 100W£Z X 51471 BIZD&E
ﬂfé 100WECEl= A 50750 A 1426 A 52176 79.39
T I 50VAETOD1#ER1BIcDEF A 15160 A 425 A 15585 23.72
A
Eit) 50VAECZ
1 100VAECO 144521 § [zo= A 303.16 A 852 A 31168 47.42
%E 100VAZC 2 514881 BITDE100VAETI &I A 303.16 A 852 A 31168 47.42
HRERENSOVAETRHIHIZDE A 412 A 0.11 A 423 0.65
R ENS0VAZZ X
100VAETO1 B I=o% A 819 A 024 A 843 1.28
R ENT00VAZC X a R a
== 500VAETODI1HIZDE 8.19 0.24 8.43 1.28
EREFEATA 100VAE G &l
WA EMS00VAEZ X
IKVAZTO1HIZDE A 81.77 A 229 A 8406 12.80
BREMNIKVAZZZ
kKVAETOD1HIZDE A 8177 A 229 A 8406 12.80
1KVAETZ &I
BERSE 5 ZHBEAIKWIBICDE A 8598 A 240 A 8838 13.46
an HT B8,
= T
(e B f#e) ZHEA0SKWDIHE1RICOE A 4301 A 121 A 4422 6.72

ERRBMES S URE S T PR 15 (X 5 HLat i)

HAEPREHE@AE 2025565 ~8H
(HEREORICAHRE L= REHTER) (20254 11 B 5 DK B SIS ST O % Lo 1 BRHEH)
F R EHERE 81,500 /kI 33,600 /kl
Bt ST g 79,300 /kl 65,400 /kl
D3 Sl 82,572 /kl 65,399 /kl
THLNGIEE 132,509/t 85,025 /t
EHRREE 53,189/t 17,317M /t




